WSC Group 1 Level 1

Q 1) The unit of which one gf these\quantities is NOT among base units under SI
system of units ? / 378 Y DI Tl AId ShTs THIATS YUTCH o dad YR SH1gdl J
JTH 81 g 2

1) Luminous Intensity / UPIRI LIEGH

2) Amount of Substance / gt & A
3) Plane angle / THAA DIUT

4) Electric current/ ﬁﬂ:ﬂ?[ YRT

Q 2) Which statement about ores is true?/ 3| &b HIY A DI T HYT I %?

1) Haematite is ore of iron and magnetite is ore of magnesium / %ﬁETEFE r«ha Gal
3T § 3R HUCIZC HIRMH H1 3RS §

2) Haematite and magnetite both are ores of iron/ %J:ICI‘E:C 3ﬁ7 EI‘:ic‘.lsc‘. Eﬁ:h ('1\IE§I Gal
3T §

3) Haematite and magnetite both are ores of lead / %J:I(ilsr T 3R ﬁI‘:iCIEQC FEIRIE I
3 §

4) Haematite is ore of aluminium and magnetite is ore or iron / %ﬁ?l%‘c’ Qﬂmﬁm DI
3O g 3R AR el HT 3D §

Q 3) The speed of a motor is 2000 rpm at no-load; 1960 rpm at half-load; and 1920 at
full-load. % drop at half-load and full-load is ........ /T AeR B A 2000 RUTH ©,
TYT AT 1960 SRUTTH TR § 3R 1920 TR TS TR 3T ANS 3R T A6 W %

1) 1% and 2%/1% 3R 2%
2) 2% and 4%/2% 3R 4%
3) 3% and 6%/3% 3R 6%
4) 4% and 8%/4% 3R 8%

Q 4) Which of these has the highest density?/ 70 I fopdapt i dH g gl 87

1) Nickel/Mdd@

2) Molybdenum / MfcresH
3) Manganese / Het

4) Zinc/ fSiep

Q 5) A load is being pushed up a ramp as shown in figure below. How can F be
decreased? / 1 faU T foay ¥ f3aT 71U SR T UR &1 YU W &l faam S 3@l
3| 99 ol HH o S Hohdll 62




1) Cover the ramp with a carpet /3 P BT TV GP B
2) Decrease the height of ramp/ T &Y Vﬁ'lé HH DI

3) Increase the height of the ramp/ T Pt W'Ig dgl P
4) Decrease the length of the ramp / g ol FTEITQC Yl h

Q 6) 5x + 17y = 61 and 2y = 3x. Find value of x and y. / 5x + 17y = 61 3R 2y = 3x, x
3R y &7 A g |

)x=4;,y=6

2)x=3;y=4.5

I)x=1y=15

4)x=2;y=3

Q 7) See figure given below. Choose correct statment./ I &1 o g | Tl HYA

»«Eﬂm}@f

Claw hammer Wheel barmrow Human arnm
% l
Pliers Hiul-cracker Sugar fongs

1) Claw hammer and sugar tongs are levers of third order / EI'FIT%TIT 3R AR N
TR oA & THaR &

2) Wheel barrow and pliers are levers of first order/ A R 3R WW@[ PHD
ARG

3) Human arm and nut cracker are levers of second order / AT @1 dig GHT c W
IR HH & AR g

4) Wheel barrow and nut cracker are levers of second order / %ﬂﬁ R 3R e HHY
CINHHA P AR g

Q 8) Which of these is NOT an example of friction that is helpful? / 3—.{.&[ DA Udh

TYUT BT IGIEXUI T51 5, ol TGP Bidl 62

1) Brakes in the car / IR B ECr

2) Piston in engine cylinder / Sho Ries ¥ fUwe

3) Tread in the bottom of your shoes / Gﬁ & q a—g
4) Car tyres on the road / S R Id Xg PR R I

Q 9) The difference between the circumfrence and diameter of a circle is 28 cm. Find

the radius. /W%ﬁqﬁﬁf GﬁTWﬁ&iﬁT% @Tﬁ%l ﬁscnsnﬁﬁl

1)5.36 cm / 5.36 T
2)3.56 cm/ 3.56 T
3) 6.53 cm / 6.53 YA
4)6.35 cm / 6.35 I

Q 10) 50 N and 120 N forces acting on a body as shown below. Find value of F and
tanf / T2 & 1T oy & U fig TR 50 N 31R 120 N &7 BRI R 81 5| A 3R tan
BT HM 1A X



50N

120N

1) F=130N; tan 6 =0.6741/ dcT= 130 N; tan 6 = 0.6741
2) F=130N; tan 0 =0.4167/dcI = 130 N; tan 6 = 0.4167
3) F=125N; tan 6 = 0.4716/dc] = 125 N; tan 0 = 0.4716

4) none of these/ Etlﬁ I ﬁ's“ :IgT
Q 11) What is transfered when work is done?/ W T Eﬁef O3 T Wﬁﬁ Eﬁ?ﬂ %?

1) Effort / IO

2) Velocity/ o

3) Energy /

4) Nothing / $& gl

Q 12) What is the unit of strain?/ d-ld [ ng [ %‘?

1) mm/ foredt

2) mm / m/ forefi/adt

3) Micron / W:f

4) No unit / BVs HH® g

Q 13) Which statement is NOT true?/ &1 9T YT I T8} 82

1) SI unit of stress is Pascal/ dTd B T3S IPBTS UG &
2) Tensile strain is the ratio of change in length and original length / d-=Udl d-Id, <Idlg

3R Hd <iaTs H URacH &7 3uTd &

3) Young s Modulus is a measure of stiffness of material / I W T Bt
FHERAT BT TP TGP §

4) None of these / g:rﬁf q ﬁ_sf :lgjf

Q 14) Which instrument is used to measure thermal properties such as heat capacity?/

JWT & oI TG T[0T &1 {19 & T o SR 1 SUTNT fha STTan g 2
1) Pyrometer / tnsﬁtﬁa

2) Calorimeter /

3) Hydrometer / 6|$§;|ﬂ|3€

4) Odometer /

Q 15) In a series circuit, which parameter remains constant across all circuit elements?

/ U g fhe H, I I tRex Tt 9fde dal 7 RR I[|arg?

1) Voltage/ dlecsl
2) Current / YRT
3) Both voltage and current / dlees 3R URT S




4) Neither voltage nor current / - glees 7 YRT

Q 16) In the following circuit, calculate the current through 20 Q resistor. / IBLINIEES
gidhe 7, 20 0 UfaRIg® & ATeTH J YRT &1 AT 6N |

- W—" .,

e 1O Sy e

1) 36.67 Ampere / 36.67 TR
2) 20 Ampere/ 20 TR

3) 10 Ampere/ 10

4) 6.67 Ampere/ 6.67 TR

Q 17) What is the relationship between the units Nm and J?/ ECOE] gc- mfiex 3R fcl
o o HeY 82

1) 1 Nm = 0.981 J/ 1 g1 Hiex = 0.981 S
2) 1 Nm=11J/ 1A HIR = 1

3) 1 Nm = 9.81 J/ 1 g HIcT = 9.81 Sl
4)1Nm=101J/ 1 g HIc = 10 I

Q 18) Which of these is an example of transformation of electrical energy to chemical

energy?/ S8 ¥ I AT faggd Soll § IAMD Soll H IR BT U 3Tl § 2

1) Photoelectric cell / W@E@ﬁ
2) Electroplating / 3@3@'@%’[

3) Battery cells/ Sc<1 Jd

4) Heat engine / @? QTIFT

Q 19) In a belt drive, due to difference in tension along the belt, its length is constantly

changing. This is called ........... / §cT glgd ff, deC & 1Y 1 | Wéﬁw,
gYh! TATS AR Jeddl 8dl ¢ | Ig BRI g ...

1) Slip/ Rea

2) Creep/ Ele]

3) Extension / Qa'\‘:l%'gl:f

4) Prolongation / PIIUEE]

Q 20) To reject 2 items from a lot, an inspector rejects at 0.08% of defectives. How

many items does he examine? /e (Fﬁa 2 aﬁaﬁﬁ Wﬁ%%ﬁw
glﬁw 0.08% aIYquf axg 3l P SRAIBR HRT ¢ | I8 forait aegail Bt i
?

1) 2500
2) 3000
3) 2000
4) 1500

Q21) A, B, C are in ratio 35 :28 : 20. How will be a sum of Rs. 1162 be divided
among them. / A, B, C 35: 28: 20 % 30T H § | 1162 3T I 374 fauiord fpan



T o IR (@) H gt |

1) 490,392,280
2) 400, 300, 200
3) 500, 392, 250
4) 940, 200, 12

Q 22) Among the following which of the set form the sides of right of triangle? /

frafafaa § § oF I Y B & o 3R B SToE §11 32

1) 30,50,50
2)3.4,5
3)20,30,10
4)3,5,6

Q 23) Find the value of T from the given figure? /fawmu 3‘[@% T & Hed JATd
G D)

1)24.45N
2) 189N
3)32.5N
4) 28N

Q 24) On dividing 32a%b +12ab’c by 8ab, we get the quotient as / 32a%b +12ab’c

D1 8ab T fAHTRIT FRA W, §H URTHS FHT

1) 4a+ 1.5b%
2) 5a+ 1.5b%
3) a+ Sb*c

4) 2a+ 1.2b%

Q 25) What is the composition of bronze? / BT (ST+T) P AT T %‘?

1) Cu (75-95%) & Sn (5-25%)
2) Cu (75-95%) & Ni (5-25%)
3) Ni (75-95%) & Sn (5-25%)
4) Ni (75-95%) & Pb (5-25%)

Q 26) Solve: V (41- V(21 +V(19- V9))) / BA B : v (41- V(21 +V(19- V9)))

1)6
2)5
3)3
4)4

Q 27) In blast furnace, what is added to remove impurities of oxide? / &T¥C g f[
SRS BT T P e I g 4T e e 22

1) Coke / PIH
2) Float / e
3) Slag / <IIdl



4) Limestone / AT YRR
Q 28) Complete the identity: Sin (A-B) = ? UgdId @ ®X: / Sin (A-B)=?

1) sinAcosB - sinBcosA
2) sinAcosB + sinBcosA
3) cosAcosB - sinBsinA
4) cosAcosB + sinBsinA

Q 29) Given : a/b = 6/5 ; find the value of (a2 + b?)/ (a - b?) /fearmana/b= 6/5; (a?
+b?) / (a2 - b?) T eI JTd DY

1)61/11
2) 56/15
3) 91/42
4)80/13

Q 30)%The maximum friction acting on the body is / Ycd U B B4 aTall HfHTH
gy

1) Limiting Friction / forforeaT aor
2) Sliding Friction / TATSIST T80T
3) Bearing Friction / T eefor
4) Dry Friction / gI% YT

Q 31) Heat a%d work both are functions / dIJ (1%?) 3R & (aé) Al|
Gapkd

1) Path / UTY

2) Point / ﬁg

3) Exact differential / i ARV (3Toide fEh-=ra)
4) non-Transient / qﬁ-m

Q 32) A body moving with an initial velocity of Sm/s comes to halt. What is the
distance travelled in 10 sec? / Udh Y dh S URTNP AT 5m/s B 1Y T el % IR
ST g1 10 Yhe W T &1 T3 g3t fbal 82

1)25m
2) 50 m
3) 5m
4) 10 m

Q 33) The temperature of a furnace is measured by / ‘-Igef DI dTUHIA gRT
197 ST & |

1) Pyrometer / msilﬂla

2) Calorimeter /

3) Thermometer / yHTeR
4) Gas thermometer / g yHiHier

Q 34) The Frequency at which DC operates is ) forg G'HQﬁ'f (W\‘:ﬂ) UIDC
YA B8 98 ©



1) 0 Hz

2) 50 Hz
3) 60 Hz
4) 120 Hz
Q 35) Negative guage pressure is also known as / TR RIS 7191 GaTd (ﬁﬁﬁa
IS URR) b1 & U H Ht ST ST Bl
1) Vacuum Pessure / aaxl}[ odq
2) Absolute Pressure / & adld
3) Gauge Pressure / ST ga @
4) Atmospheric Pressure / W@Fﬂ’q &dld
Q 36) Specific gravity of 1Ltr. Of a liquid when its density is 7135 kg/m? is /
1Ltr TR Uerd STq YT U 7135 kg/m® & 99 9D [ART ¥ § |
1)0.7135
2) 0.456
3) 0.98
4) 0.886
Level 1 Answer key
Question No. | Option Question No. | Option
1 3 31 1
2 2 32 1
3 2 33 1
4 2 34 1
5 2 35 1
6 4 36 1
7 4
8 2
9 3
10 2
11 3
12 4
13 4
14 2
18 2




16 3
17 2
18 2
19 2
20 1
21 1
22 2
23 1
24 1
25 1
26 1
27 4
28 1
29 1
30 1

WSC Group 1 Level 2

Q 1) The pitch of a screw jack is 1 mm; length of the handle is 1 m. Mechanical

advantage = ...... /wﬁfﬁiﬁﬁﬁmﬁ?ﬂé,%gaaﬁmlrﬁa%lm%ww

1) 3140

2) 6280

3) 9420

4) 12560

Q 2) In figure given below, find value of X. / a8 e fom 1, x &1 A 9d1Q
D
ximt

0
60" 13]’“ mt
45"
A B




1)73.2m/73.2
2)63.2m/ 63.2 1t
3)53.2m /5320t
4)432m/ 432

Q 3) A 200 kg block falls from a height of 3 m on a metallic piece. The metallic piece
is compressed and block brought to rest in a distance of 40 mm. Calculate average

force exerted on metallic piece. / Th 200 EIMIEENIED Yrq & gﬁ R 3 e &l
&

1) 147150 N/147150 =g
2) 174150 N/ 174150
3) 141705 N/ 141705 =g
4) 150714 N/ 150714 =g

Q 4) Which of these is NOT an example of Newton s third law of motion? / _&r'_'lff |

DI 1 ge & T & R FaH T I3 61 6 2

1) A rocket leaving earth/ q&':ﬁ 3 gaftd Adbe

2) A passenger travelling in a car leaning forward when brakes are applied / Uch IR |
AT A AT AT sieh A TR SR D1 3R b Iell &

3) A gun being fired / BTIR &1 S Tl T

4) Two cars hitting head on / Udh w Y THIM dTell & HR

Q 5) Which among these metals has the maximum coefficient of linear thermal

expansion?/sqiﬂﬂﬁﬁ@ﬁqmm Y faR &1 WW%"

1) Lead / IS

2) Aluminium / TegfHfAay
3) Brass / dtad

4) Silver / et

Q 6) Fusibility is one of the properties of metal. Which metal has the highest melting
point?/ TIRITSTIET 4T & 0N H ¥ T & | DI I YT BT I TTa1 foig il

?

1) Tungsten / STRe

2) Chromium / HIHaH

3) Vanadium [adfeay

4) Molybdenum / ﬁm_s\:m

Q 7) Bouyancy is defined as RN (Eﬁ@ ) Gl & TOH
RIS forar T 5|

1) the weight of fluid displaced by the body TR (G¥]) GRT faRTUT Sd T qo
2) the drift force / dgId dcf

3) the shear force / HAA! () T
4) the downward force / I Pt IR A

Q 8) For slow movements and fine adjustments which type of screws are considered? /

&7 TATe SR IRI® JHRISH o (oY [ ThR & ¥ A S 62




1) Differential Screw / ICEILED (%qf{@lﬂ?l) P
2) Compound Screw / U3 S Th

3) Hex Screw / %W b
4) Bladed Screw / EYEE] I

Q9) Find the slope of line passing through point: (0,-2) and (3,0) / (0, -2) 3R (3,0)
faig T oA aTelt X1 BT s () J71d B

1.5
2) 0.66666666667
3) -0.66666666667
4)-1.5

Q 10) A wire of uniform thickness of length 18m is drawn from a copper cylinder of
length 8cm and radius 1 cm. What is the thickness of wire? / Ud did &7 RiaieR
forgep! TaTS 8 cm SR BT 1 cm & I 18 m WSS BT b JHH HICTS alell dR
S ST g 1 dl

1) 1/15 cm
2)2cm

3) 1.5cm
4)3.2 cm

Q 11) Sine bar is use to measure . /WWWW
Ao & fore faran S g

1) precise angular measurement / gie I A9

2) simple angular measurement / HX<T HIUNG AT

3) precise linear measurement / Tt YRaP AU

4) surface roughness measurement / Hdg QGRGRMY HIY

Q 12) At what temperature both Farenhite and Celcius scale measure same values? /

Y ITIHM R BRAGEE 3R VR Whd GHI THH Hedl &) ATTd 82

1) -40
2) 20
3) 100
4) 40

Q 13) Efficiency is the ratio of | BIAEHT =i DT HJUTd gl

1) Power Output/ Power Input / UIdX HT3cYc / UTAX {1YC
2) Power Input/ Power Output / UTdX TYC / UTdX HI3CYC
3) Power / work Input / UTdR / T S yc

4) Heat/ Power Input / _6‘1?.’ /4raR gq4Yc

Q 14) For a floating body to be in stable equilibrium, the centre of gravity should

be / T IR U Iedh B! fRR Uger H g & AT, Tyl &1 65
gl

1) below centre of Bouncy / I & g & A=
2) above centre of Bouncy / I & HE F IR



3) above Meta Centre / AT HE B HUR
4) same at centre of Bouncy / St & G- ﬁ

Level 2 Answer key
Question No. | Option
1 2
2 1
3 1
4 2
5 1
6 1
7 1
8 1
9 1
10 1
11 1
12 1
13 1
14 1




